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MATHEMATICS e Pkt

1. A bag contains 1, 50 Paise & 25 Paise coins in

equal number. If the total amount in the bag is
35, then find the number of coins of each type.
TS AS A 2 1, 50 9F AT 25 UA & JATS d& A
faTs 81 af 93 A oo ot 235 &, At 4B A D
u&re & fhaa fdad -

(c)so
(D) 40




MATHEMATICS

{3“5 R):,J By Pradeep Sir
| R Sop o p 2. A purse has 334.5 in the form of 1-rupee, 50 —
| paise and 10-paise coins in the ratio of V396 :
£ I33¢ © 33 logn 3v/99: 10V11. Find the number of 10 -paise coins.
e a\ﬁ( TH aH A 1., 50 9 3112 10 9A @ S U A V39 :
3v99: 1011 & 3e[Urd & 2 34.5 £110 9 & fAaw!
B ooxs 2w xLxa & giem Sa S
A)10 —
e (A) ]—"36“‘ 211 . \oJuy

: =2y B) 20 —

10p Cainy, = =259 -3 R ( o - 3l - \a iy
LN, i ;

P

k10> P04 (D) 40 6/5/: 320( [
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By Pradeep Sir

3. A box contains 590 coins of one rupee, 50

| ¥ Sep 5P
paise and 25 paise. The value of each kind of
BT . € . lo
Gn 7 L 4 Yo the coins are in the ragi_oof3/1;ZTZ:1:3/4;—;.Then
';'G'E >x12 || the number of 50 piase coins is:
= _ TS 9T A 590 fAas ve &udn, 50 U, 25 1A H T4
Sl | 1
B Bi) KL ﬁ%uﬁma%mﬂﬁ’"- 1: 3/4”35 Agal
. i oM Ho(Uld
3 : : :
3};&? — 3’35: 50 U & faawn! &l Tean =ird Hel ?
<3 e
1 . A)100 B) 110
T W £ (a) (8)

@
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By Pradeep Sir

4. A box contains 56 in the form of coins of
one rupee, 50 paise and 25 paise. The
number of 50p coins is double the number
of 25 paise coins and four times the
number of one rupee coins. How many 50
paise coins are in the box?

e —

THh S A 56 STA S ST A 159, 50 9 g2

25 0 & AT 21 50 OA & fAah! &I T, 25
i & fAaw! Hit d=r A tdATITIA &
faaas’lg ANl ¢ af diad A 50 98 & fbaa

OL:

(c) 56 D) 6C




B ™ MATHEMATICS By Pradeep Sir

| R Y 5P 5. There are 97 total coins of 1, 50 p and 25p

denominations in a bag. The total amount in the

Gf:_h x - (9 1-19%) . I3x bag is 4750. What is the number of 1 coins if it is
known that the number of 25p coins are 116.66%

= (97-19x)9 13=x more than that of 1 coins?
— /G x 4 2 = Y.
2 o TS CHANA 2, 500A R 25 0 A & 97 ATH SN AT

t\"j‘* 19y —28%+ 13> = |90 Z 47.50 £, at 991 & v & & AaH Ht g gaze
afe 25 0@ & Aol &t d&= v sud & e &

- (@24 | | cochs ool 16T

(B) 2] >)

(Xl( - ﬂ (c)26

(D) 22




MATHEMATICS

A7§7} - axt; ?A.'B:

Bre = Cxi 3

B.'C':u%

A-'QIC:

By Pradeep Sir

6. A, B and C have some coins. Seven times the coin
of A is equal to 5 times of coins of B. Where as 6
times the coin of B is equal to 11 times the coin of C.
Then find the minimum no. of coins A, B and C have?
A, B 32 ¢ & UTd $© fAad £l A & fAaw! &1 &Ta I[en, B
& Ut fAa! &1 5 I[a g1 wiafds B & fAaw! &1 6 I[e, ©
& fAaHI S NIEN S e 21 A, B W C & U A A

A P fbaot [ATH & ?

(A) 156
(c)120



By Pradeep Sir

7. Rakhi has only 16, consisting of 10 paise,

[oPp Ro p ) 2
20 paise and?Zl1 coins. The ratio of no. of
Gﬁ‘b 3 e d coins of 10 paise and 20 paise is 6: 1. The
R \é_g’c_ x minimum no. ofZl coins is
oty S J oot & U 10 9@, 20 9A R TH FUA H FS

d= 16~ Yx 5| o)1) - fASTHE 216 2110 UA 21 20 U & fAFH! &1

&) masn%,a’m,ai_@aaﬂ'ﬁa;amm
e - N gzt B
\e-§% 5 RV (B) 8
Q«-g&; 34D (c)12 OE
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By Pradeep Sir

| 6 5P = 72 8. Suresh Rao Sir cash of a cheque of2600 from a bank.
x ( 12-x) The manager of the bank gives him t;tal 72 notes,
containing 10 note and Z 5 note., Find the ratio of the
lox 4 § ('7&~x) - Coo number of 10 note and 5 note.

S % 221 2Td H 9 A T 2600 B U HoATd &1 96 IS Ual &
S = 2o 3ITATel  Ha 2 10 aATS dA1 5 A1 SAle, el $&
0B =4 fAesTee Sam 72 2, 3aT 21 210 & Sitel $i dzm H125 &

SR = 72 yme {o‘{:\ mamamm

(A)1:2 | o R s?—l‘ -9
o sm S
E : 94\,\ = 4“0_%:4_\.‘_

(D) 3:2 T-
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9. Hridaya opened her piggy Bank and found coins
of denominations Rs.], Rs.2, Rs.5 and Rs.10 in the

ratio 10:5:2:1, If there are 72 coins in all, then how

much money (in Rs) was there in the piggy Bank in

form of coins?
£4d 3 3Tel I[eod AT 31T IA 10:5:2:1 & 3e[urd A 1
&9d, 2 T4, 5 FUA 312 10 TUA & fAad AS, afe &

fAetee 72 f@e €, dt fbden dan (59 ) Jeos A
Aol s sad o

(A) 100 (B) 72

o
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By Pradeep Sir

10. Atul purchased Bread costing Rs.20 and gave a
hundred rupees note to the shopkeeper. The
shopkeeper gives the balance money in coins of
denomination Rs.2, Rs.5 and Rs. 10. If these coins

are in the ratio 5:4: 1, then how many Rs.5 coins did

the shopkeeper give?
g o 20 A &t At WA 30 qHIeRR B H FUL

@1 site f3am gereiere & 21fel ®1 2 #0d, 5 &9 32 10
*Ud & fAaw! A 2a1 219k A fAash 54: 1 S 3GUIE A E,
dl gbTerare ot 5 &Ud & fbaet f@ads fde 2

(A)6 (B)5



